I TR / 3TATET T
GOVERNMENT OF INDIA / DEPARTMENT OF SPACE
37T SUANT g (SE)
SPACE APPLICATIONS CENTRE (ISRO)
B R EEIC AHMEDABAD

ADVT. No. : SAC-DECU:02:2016, dtd. 6/8/2016 (Post Code : 23)
TR TR (Hegex TasTe) g & ud= & fore ferf@ra udie

Written Test for selection to the Post of
Technical Assistant (Computer Science)

Date 04/12/2016 (Sunday) Question Booklet Series
Test Timings 1200 - 1400 hrs.

No. of Questions 80

Maximum Marks 240

| B
seafiear & forw &2 / Instructions to the candidate
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Candidate should read carefully the instructions in the Question Booklet and OMR Answer Sheet
before start answering.
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Immediately after the commencement of the examination, candidate should check that this
Question Booklet does not have any unprinted or torn or missing pages or items, etc. If so, get it
replaced by a proper Question Booklet.

-0 80 AT aTell Tk T-RECTeRT 1 U T et 3 Y TERE VR & ¥, FOreTet 3 dverel v 3¢ RfeTY
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The question paper is in the form of a Question Booklet with 80 questions. Questions are of
objective type with four answers indicated, of which only one is unambiguously correct.
mmaﬁwma%ﬁmmmaﬁzwmﬁ/mmaﬁﬁmﬂﬂmuﬁaﬁa (ERTeTT 2 2YeT) &7 &
yeoT Y| 3NowaR ofe & Javd faud o 3 5T e 3w aTe el & HgE STAIR AR H
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Use only Ball Point Pen (Black or Blue) for writing/ bubbling on OMR sheet. Enter all required

details and select the right answer by marking the corresponding oval on the OMR sheet as per
the instructions given in the OMR sheet.
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Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is mandatory to be
written on the OMR sheet in the box and bubble appropriately. Failing which, the answer sheet
will not be evaluated.
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Each correct answer will carry three (+3) marks; Zero (0) for no answer and minus one (-1)
for a wrong answer.
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Multiple answers for a question will be regarded as a wrong answer.
INTAIN i # careqdes fod | 31fafRe deasm e e € 6 sl

Marking in OMR must be done with utmost care. No spare OMR sheet will be provided.

31T, et Y 3rgafer et &7 streah|

Computers, Calculators, mobile phones, reference books, logarithm table, electronic gadgets etc.
will not be allowed inside the Examination Hall.
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Space available in the Question Booklet can be used for rough work, if required. No separate
sheet will be provided.
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Candidate are not permitted to leave the Examination Hall during the first one hour of the
examination.
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Candidate should hand over the following to the invigilator when asked: (i) Hall-Ticket (i) Original
OMR sheet (copy of the OMR sheet to be retained by the candidate).
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1. ANF &7 ........... & HIY HH A & U qam=r arar g
[A] &1 fovsiar
[B] @y fAsiear

[C] sg-Feaifha fosiear
[D] 3uded & & &5 L

2. fawifof@a # o siF-ar ve 3 yegad! Seey 787 £?
[A] arged
[B] 31ehel
[C] 3mgUATH
[D] gfwrs

3. fafFfaf@a F 3 sla-ar dcad usuaEHT yHE & e war §?
[A] Ufhe-TEazs secdsd
[B] Huer -Fazs Aead
[C] the-Tea<es Aedd
[D] 3ugeFd & & 1S L

4, IS AT & fov dsfagyr 7 gaf®r & g
[A] FDM
[B] TDM
[C] CDM
D] 39dad & & ¥ gl

[A] g%lee] faferior o
[B] gwNE fafeor oY
[C] X-frgor WX

[D] WRIear=T foRtor g¥
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1. 4NF is designed to cope with :
| [A] Transitive dependency
[B] Joint dependency
[C] Multi-valued dependency
[D] None of these

2 Which one of the following is not a valid relational database?
[A] SYBASE
[B] ORACLE
[C]IMS
[D] UNIFY

& Which of the following networks supports pipelining effect?
[A] Circuit-switched networks
(B] Message-switched networks
[C] Packet-switched networks
[D] None of these

4, Guard bands increase the bandwidth for
[A] FDM
[B] TDM
[C] CDM
[D] None of these

5. A wireless mouse works on
[A] Infrablue radiation
[B] Infrared radiation
[C] X-rays
[D] UV rays

L Technical Assistant 3 December, 2016 1
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10.

Pfaf@a # ¥ Rt = Regd @aa g &7
[A] TTL
[B] CMOS
[C] DTL
[D] RTL

haAld] HATTT & TR BT 3ed2T g &
[A] 9T gl TRUY & HH HeAT
[B] e st FRITarT &l AT el
[C] sferer Hfdeafed 7 oot & Fqaaa
[DIgferaet ideaiad & e & HWhaH e

AR @ HPeaw X F AU Fhd vSw Rie A1 Imaeasmar a2
[A] 10 faca
B] 12 facw
(C] 14 faew
D] 16 farew

TATENTS [T 7474 gidr &
[A] 3311 TS feors o fera-weltg (TTL)
[B] 337el UST fearg &Y fera-graiid (CMOS)
[C] 3377 UST fears &Y forera-wraliq (TTL)
[D] 337eT sl fa1S Sih Toera-Trelld (CMOS)

-8 AZr3 AT TEAT & THFHET gl &
[A] 10001000
[B] 00001000
[C] 10000000
[D] 11000000

Technical Assistant 4 December, 2016
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6. Which of following consume minimum power?
[A]TTL
[B] CMOS
[C]DTL
[D] RTL
it Karnaugh map is used for the purpose of

[A]-Reducing the electronic circuits used
[B] To map the given Boolean logic function
[C] To minimize the terms in a Boolean expression

[D] To maximize the terms of a given a Boolean expression

8. How many address bits are required to representa 32 K memory?
[A] 10 bits
[B] 12 bits
[C] 14 bits
[D] 16 bits
9 The MSI chip 7474 is:
[A] Dual edge triggered JK flip-flop (TTL)
[B] Dual edge triggered D flip-flop (CMOS)
[C] Dual edge triggered D flip-flop LTTL]
[D] Dual edge triggered JK flip-flop (CMOS)
18:

-8 is equal to signed binary number
[A] 10001000
(B] 00001000
[C] 10000000
[D] 11000000

Technical Asgistant 5 December, 2016 j
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12.

13.

14.

19

[A] TTL
[B] ECL
[C] CMOS
[D] LSI

YSCAHGd HEIT ‘AQ° &I THFET ZAHod AT £
[A] 80
[B] 256
[C] 100
[D] 160

T2 I T & o NAND dic 3m3eqe et gla|

fSWlee &egaey 7
[A] & #15 T 7 81 &
[B] &S Newt e wigt gt &
[C] T g & T s Reot erew w1l gar &
[D] & a& gid &

Technical Assistant 6 December, 2016
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12.

13.

14.

15.

Which of the following is the fastest logic?
[A]TTL
[B] ECL
[C] CMOS
[D] LSI

The hexadecimal number ‘A0’ has the decimal value equivalent to
[A] 80
[B] 256
[C] 100
[D] 160

The NAND gate output will be low if the two inputs are
[A] 00
(B] 01
[C]110
D] 11

A default constructor
[A] has no arguments
[B] has no return type
[C] has one argument but no return type
[D] has two arguments

Status bit is also called
[A] Binary bit
[B] Flag bit
[C] Sign Bit
[D] Unsigned bit

Technical Assistant 7 December, 2016 —l
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16.

17.

18.

19.

20.

U foe 3TT &l TR ) aTor TRUY & &gl ol &
[A] UsAhIsY
[B] 3R ¥¢
[C] TFerawrerry
(D)RESIESS

A/D aRade, foraar afiads aaa ey & dear & wads giar &
[A] 3371 ToilT
[B] &3eX sy
[C] HATATR gRadeT
[D] 3efshffieh @fesiehest

ursiifed difores fees &, difole Toe 1 gafar
[A] TSR deesr
[B] 3Tdd dlecsl TR
[C] T dlecal F
[D] fFTar alecsl TR

Ve IR Getiicr & Guiarard &I sedish e & fov Heafafad o @
frer rag 1 IuAter fBar sar § 2

[A] Afea

[B] =7

[C] g

[D] wefesw
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16.

1Z.

18.

1.

20.

The circuit used to store one bit of data is known as
[A] Encoder
[B] OR Gate
[C] Flipflop
[D] Decoder

The A/D converter whose conversion time is independent of the number of bits is:
[A]) Dual slope
[B] Counter type
[C] Parallel conversion

[D] Successive approximation

In a positive logic system, logic state 1 corresponds to
[A] Positive voltage
[B] Higher voltage level
[C] Zero voltage level

[D] Lower voltage level

Java programs are
[A] Platform Dependent
[B] Interpreter Dependent
[C] Platform Independent

(D] Interpreter Independent

Which of the following keyword is used to invoke superclass of an overridden
method?

[A] Native

[B] New

[C] Super

[D] Static

_ﬁp_——zy_—-_—_,_—,_._r..
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21.

22.

23.

24.

25,

W—W%WW%@@WH@TE?W%’?

[A] 12,16,20
[B] 9,56
[C] 6,10,8
[D] 15,25,20

330° T3 &IuT 1 AT I wGTAOT

[A] 2
[B] n/6

[C] 11/6
[D] 2n/6

HEHR g (A1) $T e &
[A] >1
[B] <1
[C] 0
[D] §77# & WI5 T

ST YITHe 7 IS 3ffeoldc Haleh &7 of Thal &1 dg RAfAIsear wgendr &

[A] UsEgeFerad

[B] uieheithasa
[C] TASTEgelereT
[D] gwedicw

frfaf@a & & sia-ar ‘¢ & ve 3Ra et Forg & § 2

[A] 3ifeY
[B] 3%
[C] Tfew
DIRERIE)
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21.

22,

23.

24.

25.

Which set does not represent the sides of a right angled triangle?
[A] 12,16,20

[B] 9,5,6
[C]6,10,8
(D] 15,25,20

Transform of 330° angle in degree measures to that in radian measures will be
[A] 21
(B] T1/6
[C] 11T/6
[D] 21/6

Eccentricity of ellipse is:
[A) >1
(B] <1
[C]0
[D] None

In Java programming an object can take many forms. This feature called
[A] Abstraction
[B] Polymorphism
[C] Encapsulation

[D] Inheritance

Which of the following is not a proper storage class in‘C"?
[A] auto
(B] dec
[C] static
[D] extern

L Technical Assistant 11 December, 2016
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26.  malloc() dT calloc() S thersle & WA & AU fFy g8 B &I rfder
foparr e anfgw ?
[A] memory.h
[B] stdlib.h
[C] string.h
[D] dos.h

27. 43 3wec &g Raer A9t & ... AT ST 8]

EIEER]
[C] &eT saet
[D] qurie

28, Torafaf@d 7 @ fvaer 3uaier 3mssdwRT & &9 & H87 fear o gehdr &7
[A] Letters
[B] Digits
[C] underscores
[D] Spaces

29. &I YA Tl & fU Gl @1 GET $HH UgdIeT
[A] Toies, o8, #I3, UISel Ud Ueallaye
[B] ®13, hurgd, foleh varsiieye Ud oS
[C] 18, &urzel, foleh, ols Ud Udkollarge
[D] @uTsel, i3, foleh, ollg va Uersilerge

30. el Harer 1 g ol & AU f@ a0 dOT-ER-EROT A ..., FEel &
[A] BeFiTs
[B] Ferefafey
(C] w¥awa
(D] aeffepet

Technical Assistant 12 December, QOIj
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Post Code: 23 A

26.  \Which header file should be included to use function like malloc() and calloc()?
[A] memory.h
[B] stdlib.h
[C] string.h
[D] dos.h

27 By default a real number is treated as a
[A] float
(B] double
[C] long double
[D] integer

28, Which of the following cannot be used as identifiers?
[A] Letters
[B] Digits
[C] underscores

[D] Spaces

29.  |dentify the correct sequence of steps to run a program

[A] link, load, code, compile and execute
[B] code, compile, link, execute and load
[C] code, compile, link, load and execute

[D] compile, code, link, load and execute

30.  Step-by-step instructions written to solve any problem is called
[A] Pseudocode
(B] Algorithm
[C] Assembler
[D] Class

[ Technical Assistant 13 December, 2016 J
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31.

32,

33.

34.

&, aordR e o Few vt & s § 32 gedfa & aefia

Hel ATl HTealde oo, HEdlldr &

[C] TeT
[D] 3 & & &5 i

frfaf@a damer @1 3mseqe grem
Main ()
{
int a ={1,2,9,8,6,3,5,7,8,9};
int «p=a+1;
int *q=a+6;
printf(\n%d", g-p);
}
(Al 9
[B] 5
[C] 2
[O] 3udwar & & F1$ oAgt

fAFIfaf@a & @ odd one wgaiaw
A] 35X REca
[B] T¥ex Fohed forcer
[C] FelenTther faEcer
[D] ¥ wsfear Bever

LTechnical Assistant 14
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gwil|isTa Field: Computer Science Post Code: 23 A
31 The object refers to the 3D representation through linear, circular or some other
representation are called
[A] Quadric surface
[B] Sweep representation
[C] Torus
[D] None of above
32.  Output of the following program will be
Main ()
{
inta={1,28862357.88k
int *p=a+1;
int *gq=a+6,
printf("\n%d”, a-p);
}
[A]9
(B] S
[C]12
[D] none of these
33.  The important property of a timer GOBtrol S v -
[A] interval
[B] name
[C] timer
(D] time
34. ldentify the odd one out from the following.

[A] Vector display

[B] Raster scan display
[C] Calligraphic display
[D] Stroke-writing display

|

Technical Assistant 156 December, 2016
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35. QT%J%E?CMYK@TB?WE’T%WWWHW%
[A] ad e
[B] emeT et
[C] AferarRyerd TaT
[D] #Sfer LT

36.  Y@r 2x=y+3 @ ToneT &
[A] 2
(B] -2
[C] 172
D] 1/3

37. [—5 2]
2 =0 & ReerOE AT
[A] -6,-1
[B] 6,-1
[C] -6,1
[D] 6,1

38. lim i 3"%11 =a g dla:

—Ix"=Tx+10

[A] -3/8
[B] 0

[C] -1/8
(D] 1/8

39. a;mmzafwﬁag;dﬁréaﬁa:ﬁvaﬁw .................. HFCT g gad §

[A] 42000
[B] 48000
[C] 23000
(D] 32000

Technical Assistant 16 December, 20164}
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Filisra Field: Computer Science Post Code: 23 A

35.  The intersection of primary CMYK color produces
[A] White color
[B] Black color
[C] Cyan color
[D] Magenta color

36. Slope of line 2x=y+3 is

[A] 2

(B] -2

[C] 172

(D] 1/3

-5 2

37. Eigen Values of [ 2 _3] are

[A] -6,-1

(B] 6,-1

[C]-6,1

[D]16,1

4=v3x+1

=g, then 'a’ is:

Hm

38. x—=3x*—-Tx+10
[A]-3/8
[B]O
[C]-1/8
[D] 1/8

39. A text box can hold as manyas ......... characters for a multi-line text
[A] 42000
[B] 48000
[C] 23000
[D] 32000

I ———
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40.  he TRIEOT . & ®7 F F Fear g

4. YEIHHAS STET & Ao §

[C] a B-GY
[D] 3uded & & &g w7t

42 fafaf@a # @ sla-ar meaw sTade 2T @Y YR T & ?
[A] GATET Faa
[B] 3HTedieher Wrge
[C] eFraaT
[D] 3uded & & &1 g

43,  RdT 333 Bise 1 AR BISd
[A] 3OS %A 7 SeaAl T ST &
[B] 363 &y 1 3R RS deamsit i g @ ¥
[C] v Raprg &l &7 915 e gear gidl &
[D] [B] 3R [C] ¥t

44. evenneees BT AT OFES T &
[A] ReFgag
[B] Taeieer
[C] faererer a1grs
[D] gFanfica

Technical Assistant 18 December, 2016
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Field: Computer Science Post Code® 23

Frame Control actsasa ..........
[A] method
[B] container
[C] event

[D] none

The scheme for hierarchical database is :
[A] a tree
[B] a graph
[C] a B-tree
[D] None of these

Which of the following mediums provides the highest data rate ?
[A] Coaxial cable
[B] Optical Fibre
[C] Microwave
[D] None of these

The master list of an indexed file
[A] is sorted in ascending order
[B] contains only a list of keys and record numbers
[C] has a number assigned to each record
[D] both [B] and [C]

... refers to pixel spacing.
[A] Pixmap
[B] Resolution
[C] Pixel depth

[D] Persistence

I I [
Technical Assistant 19 December, 2016




A

SET INDIAN SPACE RESEARCH ORGANISATION “4-. J
s

Field: Computer Science Post Code: 23 | =%11|i5F

45,

46.

47.

48.

49.

a3l & v Hla-a weler R dgax RAdew 72
[A] o Fefefafer
[B] &7 sheraifafer
[C] AST-ATE Foferiafer
[D] Tae-2ife Ferrafy

4K AFRY &1 qalet & v feaey fae vgw & snasaarar gidr &
[A] 5 faca
[B] 12 facu
[C] 8 facH
[D] 10 few

farafaf@a & & fraer aefRas &9 @ 3w F8 fhar o gear 22
(A] DRAM
[B] SRAM
[C] ROM
[D] Magnetic tap

ROM # 3er ufase aat & ufsrar sgardr &
[A] ROM & &f &g
[B] ROM W& sl
[C] ROM &
[D] ROM & =Tal ahielT

U f3ohs #E3ed @6l & fou fhder ord-gara f smasaerar gidr &2
[A] 10
B] 3
(C] 4
[D] 2

Technical Assistant 20 December, 2016
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A

Which Algorithm is better choice for pipelining?
[A] Small Algorithm
[B] Has Algorithm
[C] Merge-Sort Algorithm
[D] Quick-Sort Algorithm

How many address bits are required to represent 4K memory?
[A] 5 bits
[B] 12 bits
[C] 8 bits
[D] 10 bits

Which of following cannot be accessed randomly?
[A] DRAM
[B] SRAM
[C] ROM
[D] Magnetic tap

The process of entering data into a ROM is called
[A] Burning in the ROM
[B] Programming the ROM
[C] Changing the ROM
[D] Charging the ROM

How many flip flops are required to construct a decade counter?
[A] 10
B] 3
[C] 4
D] 2

e
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50.

51.

52,

23.

54.

De-Morgan's &T W Yoy ... w1 gHFRET gofar &
[A] OR 31 dor TS OR W
[B] NOR 3¢ JaT daes AND ¢
[C] NOR @1 @ar NAND ae
[D] NAND di¢ @ar NOT dre

ST SeT T aFHerd 3 gRafdd seer arem gRuer
[A] UAHIZT
[B] AeEIcoraaT
(G REEES
[D] &g &etaiy

ST &1 faAY &g & IEUrRN F1g & yRadd a3 & v
ST &
[A] e Ifareex
[B] #3eX
[C] TaTstalTca® TRyer
D] A/D uRad®

95 Fw A Teuly aRenRE f ST TR -
[A] ()
[B] Teré()
[C] [A] 37 [B] ¥t
(D] 37derer 31 & # g

ﬁmﬁf@?rﬁﬁaﬁ??r-mwmﬁﬂa?ﬁ?rﬂﬁ%‘?
[A] MOV
[B] ORG
[C] END
[D] (B) & (C)

Fechnical Assistant 22
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50.

81,

52.

63.

o4.

De Morgan'’s first theorem shows the equivalence of
[A] OR gate and Exclusive OR gate.
[B] NOR gate and Bubbled AND gate.
[C] NOR gate and NAND gate
[D] NAND gate and NOT gate

The circuit converting binary data into decimal is:
[A] Encoder
[B] Multiplexer
[C] Decoder
[D] Code converter

Data can be changed from special code to temporal code by using
[A] Shift registers
[B] Counters
[C] Combinational circuits

[D] A/D converters

Which method of the thread class should be defined?
[A] run()
[B] start()
[C] Both [A] and [B]

[D] None of these above

Which of the following are not a machine instructions?
[A] MOV
[B] ORG
[C] END
[D] (B) & (C)

Technical Assistant 23 December, 2016;}
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55,

56.

R7.

58.

59.

e @Rl HPRAAT AANT Fehls 1 FT Fgd &7

[A] $18 3iTeel AT
[B] Wramaaer HANT
[C] ad3rer A=A

(D] vafaufea A

fAefaf@a & Fg SRFaT 7 wEgdad T 3maeaadr giay 7
[A] fopen
[B] fclose
[C] fread
[D] 3werd & & &I oAE

a1zl FEar 11010 &1 A THRET &
[A] 26
[B] 36
[C] 16
[D] 23

ArAfaT@d & & &id a1 wrapper & #6772
[A] aFeX
[B] e
[C] sefeT

[D] $EoR

STar # char /gy aRUES &1 #daldd AT ¢
[A] \u0020’
[B] “u00ff
[C] w0010’
[D] w0000’
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55 Memory unit accessed by content is called
[A] Read Only Memory
[B] Programmable Memory
[C] Virtual Memory
[D] Associative Memory

56 Which of the following functions need a filename?
[A] fopen
[B] fclose
[C] fread
[D] none of these

57 The decimal equivalent of Binary number 11010 is:
[A] 26
[B] 36
[C] 16
(D] 23

58.  Which of the following is not a wrapper class?
[A] Vector
[B] Character
[C] Boolean
[D] Integer

59 The minimum value of char type variable in JAVAis :
[A] \u0020’
[B] \uOOff’
[C] \u0010’
[D] \w0000’

-
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60.  Sirar #F oS ST TR canT W 17
[A] kT
[B] 3Nedtac
[C] gextra

[D] sFerd

61. @M y=x+3 3R Waeg y=5-x? & yfdeeed fg &:
[Al (-2,1)
[B] (2,1)
(C] (-1.2)
(D] (4,-1)

62. Log, (1/128)?
[A] -7
(B] -14
[C] 14
D] 7

63.  STar sIgded H
[A] e Ferd & @Il Fres ygde g1 &
[B] forel Fomer & @ Fres yufma @ §
[C] forelr wisier @ & AdleT aratrd e it &
[D] 39 & & FI§ AET

64.  HA AA & @A .o, AR &
[A] Gest & Tt & IoTesy o,
[B] Tad:ener foreT ux
[C] & @27 W, f& Hedh HATR W Foreed & AT 99 gar &
[D] 3o welt
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60.  Multiple inheritance is possible in java by means of
[A] Package
[B] Object
[C] Interfaces
[D] Class

g1. Intersection point of line y=x+3 & parabola y=5-%2 is:
[A] (-2,1)
[B] (2,1)
(C] (-1.2)
(D] (4,-1)

62. Logz (1/128)% is:
(Al-7
(B] -14
[C] 14
[O)7

63. In Java Inheritance
[A] all fields of a class are private
[B] all fields of a class are protected
[C] a new class is derived from an existing class

[D] none of these above

64. The idea of cache memory is based
[A] on the property of locality of reference
[B] on the heuristic 90-10 rule
[C] on the fact that references generally tend to cluster
[D] all of the above
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65.

66.

67.

68.

69.

[A] 450
[B] 255
[C] 355
[D] 500

[A] 65535
[B] 32767
[C] -65535
[D] -32767

&& Tur Il 3Tex
[A] & TEdTcHs HIeA HT Tofell AT &
[B] &1 T&ATCHS AT ATC §3 3iTIed dAfad #ar g
[C] & gfieras Al &1 Foredl &l &
[D] 3udeFd & & 1S T

A TAX A 32T U HlT-gT 3TNeT 3T Ul il £7

[A] STSTieRer 3TaeT
[B] faearssr 3iTa¥ex
[C] 3faRed e
[D] 3wed # & #1$ 7

TRl AeTeh-chaeheleh U Fehls @l Ut AISIH TF ..o & AT @
fastea fasar oir gepar &

[A] OR #ic

[B] XOR F1zw

[C] NOR deq

[D] NAND dicq
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65. In Visual Basic, a variable name cannot be more than ......... characters.

[A] 450
[B] 255
[C) 355
(D] 500

66. Maximum value of an unsigned integer is:

[A] 65535
[B] 32767
[C] -65535
[D] -32767

67. The && and Il operators

[A] compare two numeric values

[B] combine two numeric values short hand operator
[C] compare two boolean values

[D] None of these

68.  \Which operators perform operations on data in binary level?

[A] Logical operator
[B] Bitwise operator
[C] Additional operators

[D] None of above

69.  An adder-subtractor single unit can be designed using full adder and

[A] OR gates
[B] XOR gates
[C] NOR gates
[D] NAND gates

e
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70. W%Wﬁwﬁﬁw-“aﬁﬁéﬁ%rw%,m
ToTH! F IR AT 81 ARy geer IR-UEHEAT &, g 3UHST Far & 3
afsar @1 ggarar g

[A] 3iferd

(B] ¥

[C] anrferer
[D] @getsl acE

7. rfRrEd #@ig & HAT3TYT AT gHM?
structabe{int a; int b;} v[3], «p:
main ()

{
p=v,
p->a=3;
p->b=p->a;
printf("\n%d\t%d", v[0].a, v[0].b);
}
[A] 3 4
B] 4 3
[C] & off ITEsT FIa
D] 3 3

72, Twfaf@a beue #ar @eiRa sar 27
Intfn(int a, int b)
{
if (b= =0) return 0;
if (b= =1) return a;
return a+fn(a, b-1);

}

[A] a+b f5# a 3% b gufie & [C] asb f5r&# a 3R b goife ¥

[B] atb for&# a 3R b IR-Homcas [D] asb SE# a 3R b IR-HumHF
ot & ot &
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70. ldentify the following data structure - “If a region is uniform, store its properties. If a
region is non-uniform, subdivide it and repeat the process.”
[A] Octree
[B] List
[C] Table
[D] Polygon surface
71, \What will be the output of the following code?
structabc{int a; int b} v[3], *p;
main ()
{
p=v;
p->a=3;
p->b=p->a;
printf("\n%d\t%d", v[0).a, v[0].b);
}
[A] 34
[B143
[C] any garbage value
[D]33

72 What is the following function determining?
Intfn(int a, int b)
{
if (b= =0) return 0;
if (b==1) return a,
return a+fn(a, b-1);
}
[A] a+b where a and b are integers [C]a*b where a and b are integers
[B] a+b where a and b are non-negative (D] a*h where a and b are non-negative
integers integers
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73, Trafaf@a arer feder oer Terar §2
for (x=0;x=3;x++):
(A] R
[E] =i
[C] wea
[D] @8 g

74.  I-3cgor BT 7 3G F
[A] Tergs)
[B] Uerear
[C] 3w et cya
[D] ceneAT Yaror

75, AT ESY AT TRXRAT A HIT A 5 AT T N ] Sulet el F, qofer AR R
[A] cos A sin A-sin A cos A
[B] cos A - sin A + sin A cos A
[C] sin A cos A
[D] &I =€t

76. (-253.4) Ud (4.4 &-55) fg3 & dra gl &
[A] 9.1
[B] 8.35
[C] 0.91
[D] 7.5

71 uE TSt A e e F GH, aATell HTaRAF &
[A] AT FHIATAR ST &1 v He
[B]mmwﬁmwmmmgmﬁmwﬁz
[C]Wﬁmﬁwwﬁtmww%mﬁwwﬁa
[D] AT 3T & ar e
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73, How long the following loop runs?
for (x=0,x=3;x++),
[A] Three times
(B] Four times
[C] Forever
[D] Never
74.  Write an example for non-emissive displays
[A] LED
[B] LCD
[C] Gas discharge tube

[D] Plasma panel

i If an object is rotated through an angle A in clockwise direction, the rotation
FABLI B= wusammanss .
[A] cos A sin A-sin A cos A
[B] cos A - sin A + sin A cos A
[C] sin A cos A
[D] None

76. Distance between the points (-2.5,3.4)&(-4.4 &-5.5) is:
[A] 91
[B] 8.35
[C] 0.91
D] 7.5

77.  When proving that a quadrilateral is a trapezoid, it is necessary to show
[A] Only one set of parallel sides
[B] Only one set of parallel sides and one set of nonparallel sides
[C] One set of parallel sides and one set of congruent sides

[D] Two sets of parallel sides

e
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78. TR @ fROGS T geT O W IS el ST i wear .
hEelrcr g7
[A] FoRIEw
[B] wiaedy
[C] BIEERIH
(D] g5

79. fasIyer affie 1 Oolae WSS & vEaST BT ¥ oo,
[A] .frm
[B] .vbp
[C] .vbs
[D] .cls
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on the screen

78. The phenomenon of having a continuous glow of a beam
even after it is removed is called as
[A] Fluorescence
[B] Persistence
[C] Phosphorescence

[D] Incandescence

79 Visual Basic maintains a project file with the extension...............c..ooe
[A] .frm
(B] .vbp
[C] .vbs
D] .cls

80. The default event of a text box is:
[A] load
[B] change
[C] click
[D] gotfocus
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